Hardware List

1) PuredJeep Filter, #R30-07
1) PureJeep Air Intake Tube
1) PuredJeep Filter Baffle

1) Puredeep Tube Bracket

1) Intake Tube/Filter Adapter, #2773

2) #52 Hose Clamp (2 72" 3 347)
1) Grommet, 3%4"-1/2

1) 3/8-16" x 1 grade 5 bolt

1) 3/8-16" x 1-1/4 grade 5 bolt
2) 3/8-16" Nylock nuts

4) 3/8” flat washers

1) 7/16” flat washer

1) 8 5/8” long windlass with bead
2) 3 1/2' long windlass with bead
1) 9 1/4” long windlass W/O bead

1) Installation Instruction sheet

1) Box
1) PJ Sticker

Disclaimer

PUREIJEERPCOIM

INSTALLATION INSTRUCTIONS
PUREJEEP COLD AIR INTAKE
PJ9000 - JK WRANGLER 3.8 V-6

\

PUREJEEP has made every effort to provide correct information. Each item has been fit checked for
accuracy. PUREJEEP reserves the right to alter, make changes or replace part numbers and
descriptions without notice. PUREJEEP will not be held responsible for changes or misprints or
manufacturing changes made by the vehicle manufacturer. For questions regarding PUREJEEP
components call our Technical Support Department at 661-398-9585

BEGIN THE INSTALLATION

STEP 1. UNPACKAND INSPECT CONTENTS FULLY.



REMOVAL

Step1. Remove crankcase vapor return line from
airbox.

Step2. Remove electronic air sensor from intake
tube.

Step 3. Remove complete airbox assembly,
including air intake tube,

Step 4. Airbox completely removed, ready for re-
installation




INSTALLATION

Step 5. Install new rubber reducer adapter

Step 6. Install short end of intake tube into reducer
adapter. Swing it up out of way while you install
the partition. (below)

Step 7. Install electronic air sensor into grommet in
new intake tube.




Step 8. Time to install the sheet metal partition.
Drop the partition down into the void of the old air
box. You will see the tabs where the partition will
bolt into place.

Step 9. As the partition is installed, install the tube support
bracket to the rubber mount on the fender as shown, and
swing down the air tube into place. Bolt the end of the
support bracket to the intake tube.




Step 10. Re-install the crankcase vent tube, and re-connect
the electronic air sensor plug.

Step 11. Slide the air filter element
into place and tighten clamp.




Step 12. You're done. Check for any possible gaps or leaks, and enjoy your improved
performance.

PUReEeJEERPCOIM

PUREJEEP Division of Full-Traction Suspension
6901 Unit F District BI.
Bakersfield CA 93313 U.S.A.

Hours of Operation
Monday-Friday 8:00 A.M.- 4:30P.M. PST
Closed Weekends & Holidays.

Order Desk-Customer Service 800-255-6464
Technical Support 661-398-9585
24 Hour Fax Order Line 661-398-9555
Sales sales@full-traction.com




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

